]

.022

o
)
R

ol/odao/dm [G
o
=
o8]

o
=
(@)]

0.014

0.012

0.01

0.008

0.006

0.004

0.002

[EEY

Ratio to ATLAS

0.5

7000 GeV pp Jets
= T ] T T T T T T
- Split-Filtered Jet Mass(CA(1.2), 300< p_ <400, ly| < 2.0) B
— m ATLAS —
— Pythia 6.424 ambtl _
[ e Pythia 6.424 z1 ]
= . E
:_ W Ee . _:
L 3 | _|
— ~._ —
— m ]
- B ]
- i = I
:| E! L P I I I | P I I I | P IR I |:
- ' ! ' ' ' ' ! ' ' ' ' ! ' ' ' =

I T T S T I T T S S I T T T
50 100 150

Jet mass [GeV]

Rivet 3.1.0, = 6.9M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


